18 /K#fg oS % B XK KAE
4 X B 29 G P
Wi B A e
4% W S M I T E b it S
N 100. 0 283 12.4 20.3 61.0 39.0
1 =3 93.5 92.9 91.6 92.0 92.3 95. 4
2 == 5.3 6.1 7.4 6.7 6.6 3.4
K a5 0.4 0.5 0.6 0.5 0.5 0.2
AR 0.8 0.5 0.4 0.8 0.6 1.1
o | WO 100. 0 30. 6 13.7 181 62.4 37.6
2|1 =3 94. 2 93.7 92.8 91.6 92.9 9. 3
2 == 5.2 5.4 6.5 7.4 6.2 3.6
L I 0.3 0.5 0.3 0.3 0.4 0.2
SRR 0.3 0.4 0.3 0.6 0.4 0.0
S | # e 100. 0 23.9 9.0 23.9 56. 8 43.2
1 == 9.9 9. 4 95.0 94.9 95.6 98.6
® |2 == 2.8 3.5 4.4 4.0 3.8 1.4
3 =3 0.1 0.0 0.6 0.1 0.1 0.0
SRR 0.3 0.0 0.0 1.1 0.5 0.0
N 100. 0 22.0 9.8 17.0 48.8 512
sl =3 92.9 89.0 84.5 94. 1 89.9 95.8
B | 2 == 6.5 10.2 13.0 5.7 9.2 3.9
Z |3 i 0.5 0.7 1.8 0.1 0.7 0.2
w5 0.2 0.2 0.7 0.1 0.3 0.1
o | H R I 100. 0 2.0 6.0 46.8 78.8 21.2
SN 2 93.2 90. 6 90.8 92.4 91.7 98.8
B2 =3 5.9 8.9 7.6 6.3 7.2 1.0
A3 3 0.6 0.5 0.9 0.8 0.7 0.1
M 0.3 0.0 0.7 0.6 0.4 0.0
5 | W OB 100. 0 45.3 40.0 9.1 94.4 5.6
=1 == 84.1 83.2 83.4 82.9 83.2 99. 0
L2 a2 13.4 14.4 13.7 14.3 14.1 1.0
|3 == 1.9 1.9 2.3 1.2 2.0 0.0
58 % 4t 0.6 0.5 0.6 1.6 0.7 0.0
O | R b 100. 0 37.1 25.4 1.9 64.4 35.6
% |1 == 9. 1 100. 0 100. 0 100. 0 100. 0 89. 1
b2 a5 3.9 0.0 0.0 0.0 0.0 10.9
2 |3 == 0.0 0.0 0.0 0.0 0.0 0.0
EEEE 0.0 0.0 0.0 0.0 0.0 0.0
= | W R 100. 0 17. 4 4.7 23.8 45.9 54.1
1 == 78.5 80. 4 83.0 83.1 82.1 75. 4
o |2 % 8.9 12.0 14.2 9.8 1.1 7.0
3 =3 1.5 1.4 0.3 3.6 2.4 0.7
) g % st 11.2 6.2 2.5 3.4 4.3 17.0
V1) BERERCRIZT 3 A ABIE

2) MERRELIZ. BRARECR O MU E &

3) PEHADBBRTH ENRE L 2 WBENDH 5,
4) HIHOMRERAL. BEREREOFET 2HIAICEDEHEH L 2HDTH 5,
MNCIZEEFHR TREZIT S E2ESNEEN D, B THREZIT 2L, ER2TEREE T
B B2, SERR28FELFIZERICE £ 5.)




PE I 8% A B R A AR AR

B %
4 28 4 M # 27 4 PE
W z B W " b
o ™ e e oml a1 Y a ™ T e cm om @ B X
2 | 100.0] 27.8] 125 19.8] 60.2] 39.8] » | 100.0] 280 15.1| 181] 6L2| 388
95.4| 94.5| 929/ 94.0| 90| 97.6 94.8| 94.9| 94.5| 94.4| 947| 95.0
3.8 45| 65 54| 52| 1.8 42| 43| 51| 46| 46| 36
) 0.3 06| 03] 02/ 04 01| 0.4/ 05| 03| 02 04 03
G 0.4 0.5 03 04| 04| o05]|" 0.6/ 0.3/ 01| 07/ 04 10
i | 100.0] 30.2] 135 17.9] 61.6] 38.4| 4 | 100.0] 30.1| 15.6] 16.5| 62.2| 37.8
5| 9.4 949| 925 928 937| 982| | %6| %2 92| %2 9%.2| 9.3
41| 43| 69 66| 56| 1.7 3.7 39| 45| 40| 41 31
B03 06l 03] 03] 04 o1|®| o4 07| o2 03] 05 04
1 02 o2 o3/ 03] 03 ool=| 02 02 01| 05 02 03
S| 100.0] 231 9.3 23.6] 56.0] 44.0] 5 | 100.0] 23.3] 11.8| 22.2] 57.2] 428
98.6| 98.6| 99.1| 97.1| 98.0| 99.3 95.6| 98.6| 97.1| 94.9] 96.9| 94.0
= | 13 14| 09| 24| 17/ o7|=%| 33/ 1.3 26| 39| 25 43
0.0/ 00l o1 00|l 00|l 00 0.1 00| 03] 00| 01 00
01 00|l ool o5 o2 ool®™| 10 o0l 00| 13 05 16
o | 1000 215 95 12°9] 43.9] 56.1] 4 | 100.0] 23.3] 13.0] 83| 44.6] 55.4
= | 97.0] 96.0| 9.0/ 95.1| 95.7| 98.1| £ | 9.0| 94.1| 95.5| 92.4| 94.2| 95.7
» | 27| 33 37| 46| 37| 18w | 45 56 39| 7.3 54| 38
=3 0.2 0.2 03] 02/ 02 o01|& 0.3 0.2/ 05| 00| 02 03
L0105 ool o1l 03] ool*| o1l 02 o1l 02 o2 o1
o | 100.0] 236] 6.3 47.9] 77.7| 22.3] 5 | 100.0] 22.3] 9.6 49.2| 81.0| 19.0
| 96.4| 94.4] 97.8] 96.2| 95.8| 98.5|> | 94.4| 952 93.2| 93.2| 93.7| 97.4
| 32 51| 16 33 37| 14|ev| 52 47| 67 62| 58 24
Vil 0.2/ 0.4/ 05 02/ 03] o01|%H 0.1l 01| 0.1 01 01| 0.0
Y 0.2/ o1l o1 04 03| oolVY 0.3/ 01| 00| 06 04 02
% | 100.0] 47.0] 30.3] 86| 949 51| | 100.0] 46.4] 41.2] 7.4 9%.0] 5.0
=] 820 788 82| 848 81.2| 97.6| = | 885 889| 8.7| 93.8| 88.4| 91.7
Ll o141 18] 155 113 148 L2[%| 101 9.4 123 54| 10.3] 55
F| 21| 32 o8 25| 22/ 11|F| o] 11| 10|l 06| 10| 009
51 18] 31| 04| 1.4 19| ool®| 04 06 01| 02 03 18
U - - - - - — | - - - - - -
% - - - - - | - - - - - -
1 _ _ o _ _ 11 _ - _ _ _ _
1 1
2 - - - - - |2 - - - - - -
=2 — — _ _ _ _ F _ _ _ _ _ _
= [ 100.0] 161 6.1 24.0] 46.2] 538| = | 100.0] 151 11..7| 17.0| 43.8] 56.2
85.9| 82.9| 92.0| 91.2| 88.4| 838 83.2| 80.7| 89.4| 86.6| 5.3 81.6
o | 7.4 105 7.3 67 81| 68 o | 89| 126/ 85 91| 10.2] 80
0.5 11| 01| 0.2/ 05| 04 0.7/ 04| 08| 06| 06 07
it | 62/ 55 06 19/ 30 9olf| 720 63 12/ 37| 39 97

R LRI RRE R A R R






